Cluastion |

-

iomest

Neark 2.00 out

of 200

¥ Haog
gQusstion

The area of the triongle that is determined by P = (0,0,0), @ = (1,2,3), R=(3,2,1) s
Select one:

2V2

2v6

4/

8v3

4v2

The comect answer 15: 2\.@



Givestion 2 The graph of the equation 72 — yﬂ + 22 4z + 2y —bz=kiaconeif

Inzarrect

Niark 0,00 out Select one:

of 2.00 .li‘.‘ — 0

¥ Hag

guesiion k —-13
k>12
k—=—12

The comectonsweris: k= —19

Giestion 9 gt = a non-zero vector perpendicular fo

Incorrect 5 7
Tijadk, then 2L —

a?

Narks 000 oot

of 200
¥ fog Select one:
guestion =

2

4

1

&

The comect onswer 529




Guestion &
Comect

Mark 200 out
of 200

T Flog
guesfion

s = : : = 3
If @ and b ore two unit vectors with comp-» b =+/5and proj—

Select one:
—i
J
1 F i
— (2
=2 47)
i

(i +2))

- L ] i
The comect answer is: 7 [:l- + 2}}

o
b

=i+ 2jthen a equals



Gisestion 3 —+ —* —  —F T —F =3
fu - 1w = \fﬁc:nd U x ¥ =3j+ 3k, then the angle between ¥ ond ¥ is
Incomect
Neark: 0.00 ot Selact one-
of 2.00
x
F Fag 3
quesfion w
6
=
4
T
2=
3

. m
The comect answer is: 3



Guesion & Symmeinic equations for the fine through the point (1, —2, —4) that is crthogonal to the plans

Comect Dy — Y+ 3=z = S5 are given by
Miark 2,00 out
of 2.00 Select cne:
f Hog z+l _ p-2 =4
questicn 2 T -1 2

-1 _ 2 =4d

R TR

r—1 _ _ =4

etk

z-1 _ 32 _ 3l

TR T R T |

s+l _ §-2 -4

z—1 ¥z z4d

The comect onswer i5: /— — — —



(5]

Diiskian The equation 4724 43'.3 1422 = 16y — 122 + 3 represents

Comect
Mark2.00 gut Select one:
of 200 o sphers with center {D, —2, %] arnd rodius 7
¥ Flag
guesticn a point

a sphere with center (0, 0, 0) and radius V3

a sohers with center [[}, 2, —%j ond radius /T

no graph'in B

The comect answer is: a sphere with center (0,2, — E} and radivs /7T

Swestion 8 L=t r{f] =etiy4 {EE Si]]t}j + I:Et mst)k, 0 < t < . Then the unit fangent vector T[f_} is
Comract
Mark 2,00 out Select one:
REER T(t) = sint j + cost k
¥ HAag
question T(t) = ﬁ{i + (sint + cost)j + (sint — cost)k)

)= %{i + (sint + cost)j + (cost — sint)k)

T(t) =i+ (sint + cost)j + (sint — cost)k

The comect answer is: T(t) = ii(l + (sint + cost)j + (cost — sint)k)
v




Guestian 7
Comract

Mark 2.00 ouf
Of 2.00

¥ Hag
quesiion

Guestion 10

Correct

MNark 2.00 out

of 2.00

¥ Fog
quesiion

Let r(t) = eli + {-Et sint)j + (€' cost)k, 0 < t < . Then the tangenfial component of acceleration is

Select one;
ar = v/3¢'
ar = 3¢
ag = 24/3e2
ar = Ge*

The corect answer i5: Gy = v’ﬁEt

Le’r?}=:l:i—|—yj+zk, o i+2j+3kand ﬁ}=i+j+k.Theequuﬁnn

{? - ?I}] . [?} - l_t.r}} = 0 represents
select one:

a line

twa line segmenis

a point

g sphere

twa lines

The corect answer is: a sphere



auesion 11 Leto(t) = e'i + (et sint)j + (e cost)k,0 < t < . Then the length of the curve r(t), 0 < t < 7 is

Coreci
Mark 2.00 out select one:
of 200 E(E’- o 1)
¥ Aog =
guesficn 1;-"’3(6 T — 1:]
3(e’ —1)
V3(er — 1) v
The comrect cnswer is: v"ﬁ{e’ —1)
Suestion 12 fthefinez =2+ 3, y= —4t, 2 =54 tintersech theplane 2z —y + 2= —2at (ﬂ, b, c} then
Comreact a-+ b 1e=
Mark 2.00 out
of 2.00 Select one:
T Rog 7 w
guesiion
—2
&
5
4

The comect answeris: 7



Guesion 13
Comect
MNiark: 200 oud
of 2.00

¥ Hog
Question

Question 14

Corect

Mark 2,00 out

of 200

¥ Aog
guestion

Let T(t) = eti + (et sint)j + (ef cost)k, 0 < t < . Then Ju(t)|* =

Select one:
v3et
39‘2!
3ct

Ve

The corect crswer is: 3e°

Letr(t) = cos® i +sin® 1§, 0 <t < 5 - Then the curvature K is
Select one:

gesc(2t)

3sin(2t)

Fesc(2t)

3 csc(2t)

The comect answer is: %cscf_?ﬂ



Guestion 15

St f w =ai+bj+ckisaunitvectorwhich is perpendiculor to both vectors £ + jand § + k then one of
Wiork 2.00 aut the possibilities of -\r‘ﬁ{ﬂ +b+c)is
of 200
Y o Select one:
question
—2
1
2
0

3v3

The comrect onzwer ;|



